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Passage (For Ques; 001 & 002)

To ensure qualitatjye monitoring ol highway projects, the National Highway
Authority of Indig (&JI-IAI) has put a limit on the maximum number of the projects
that can be assigncd Lo an engincer of consultancy firms. A maximum of 10 projects
per engineer of the Consultancy firms can be asszgned for the supervision of
construction or maintenance of national highway prOJects NHAI said in a press
release. The decision was taken three weeks after a highway incident in Kerala,
sparking a debate over the quality of construction of national hi ghways.

353 (121 001 241 002 :2)

€159 Mio7s2uell Rty Fuidu YelEd s2at w2, dada ed »iAlfRA i

Bleul (NHATD) 2 seieovai] gl 2 [eturel AN as1d da Hisys2uedl HerH Hvu)

WR HulEL 38l 8. NHAT 2 25 A Befloywi QU 3, seceeil il 2A[Brlau s

HertH 10 Miovs2d . 165 slovsaaetl FlaL viaan snaasildl 2vdv wd 24l

US89, 2 [T 3ol s 61654 s2etiedl 491 2zl sl Al il gdl, vl

AL 15t (ol operdnn w2 2l a3 53 ed,

What is the primary theme of the passage?

(A) The role of consultancy firms in highway construction

(B) The importance of qualitative monitoring in highway projects

(C) The impact of a highway incident in Kerala on NHAI policies

(D) The challenges faced by engineers in supervising highway projects
gsuedl Yo [auu g 97

(A) &15d [ulumi seucedl gl oyl

B G159 Uors2AAT ARATIsA BVt Heed

(C) HuMi eirfd a2idl NHAI «(lldxil W 2112
(D) 1859 Ulors2ell 2VAuiHi SoreRld sl USSIRIAL Mol 5290 W 8.
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002.  What is an assumption underlying NHAI's decision tg Jmit e number of projects
per engineer?
(A) Indian Engineers lack the required skill for highway construction.
(B) The highway incident in Kerala was caused by corruption.
(C) Consultancy firms lack sufficient engineers to hande highway projects.
(D) Limiting the number of projects per engineer wil| improve the quality of
supervision.
NHAI «lt 2A[5(u2 €ls Mlovsaieil vt Hulleq s2a141 Fofud] MR HIRQLL 9
97
(A) MRl ALyl w e16d (A1l 12 or3dl Daeud] vioyg . K
w(B) RUAL ¢1fd a2l SRR sRQL 48 &dl. = |
(€) WRiMdEldl A1 WA €159 UlovsSla AN S YRl oy «42fl. X
(D) ldrlar €ls Ulovsaedl vt Hulled sl 2uiRuidl apeian Y44,

* Passage (For Ques. 003 To 005)

Apple sells more than 220 million iPhones a year worldwide, with Counterpoint
Research estimating a fifth of total iPhone imports to the United States now come
from India, and the rest from China. 'i‘mmp consistently increased U.S. tariffs on

China from 54% t0 125%. Thus an price of an iPhone 16 Pro Max would have surged |
to $ 2,300. In the 2025, Apple has used cargo flights to carry 600 tons of iPhones to
the United States from India, in an effort to beat President Donald Trump's tariffs
on China and India. The company had requested Indian airport authorities to create
a "green corridor" arrangement to reduge the time needed to clear customs at the
Chennai airport from 30 hours to 6 hours, About six cargo jets with 2 capacity of

100 tons each have flown out since March 2025. An iPhone 14 box weighs about

' illion iPhones
350 grams. It means a total cargo of 600 tons comprising about 1.5 million.1Phone

: ; - . : ond to a request
was sent from India. Apple and India's aviation ministry did nOtF¢sP

' iscussions were
for comment. All the sources sought anonymity as the strategy and dis

private.

m
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553 (M2t 003 2L 005 333)

ud [l €2 4 220 [faueell 4y w5l A2 B, siGr2ilse2 Rl 2ielor
Hovol YelB2S 22200 5 aslglet Dol UiAHL Gt 64 MRl »ud ¢, il
otslell fletell. 230 wflot vz oy apay, 3l 54% ol 125% Yl 2t Al suell »uSgl
16 Ul Al 5ua § 2,300 tll adll oS el 202541, Al M HRA W 2pula
Selles 2l BReal e w2 Bud sl gl GIRL 600 24wl oAUl
YRS 22l Hlsenr, fuelal orrdlu 208 Udti-Fsidzild Aetd w1200 W
5223 [aureiell 2mu 30 sausell a21dld 6 sas 52132 Al 51k 24z Gell
Ul [l 5 e, iz 202541 100 2etell A3l HR1Actt 25 At 9 51011 2 Gt
Rl sl 8, s wuLsd 14 ollsite] dovel 2081 350 AH B, w24 § 54 600 2l
SR &RI MRAMIL 2183 15 crvt sUsgle Hseul dl. 2uA 2 MRl G3et A
(Erull 3dedl Beidledl svator vl «defl, amm 2ildial ezl 244 221l i
SRGL i o 21Ul «Assl 5 e,
What is the primary theme of the passage?
(A) Apple's strategy to mitigate tariffs by shifting iPhone production and

logistics |
(B) The impact of U.S. tariffs on iPhone prices
(C) The role of Indian airport authorities in facilitating Apples exports
(D) The global market share of iPhone sales

52Ul YO [Guu g 97 |
(A) wludd] 215504 Geuled i dllsyRas cleclld 2Reel a2isaiedl qguL.

(B) Yot 2Raell 2uSgleiell (Ul W2 2122
) iyl sl sirdly 2118 2AlasRliHdl st
(D) »usgid duidl AFas oo (el

What is an assumption underlying Apple's decision to use cargo flights from

India?

(A) Cargo flights are the only way to transport iPhones to the United States.

(B) Importing iPhones from India is less affected by U.S. tariffs than importing
from China.

(C) Indian airport authorities can reduce customs clearance time for all cargo.

(D) The cost of air transport is lower than the cost of tariffs on Chinese imports.

suaetl oanidl sl gsseudl Gualdid [gludl 2uared argu 4 87

(A) 519l gtz ol vl Y1sds RWuH WRddr Rl sHA Rl 8,

M‘B) Qleadf] vttt 5361 wtsSEle SRl SRAnig]l vidid s pedgia Yt 2Redl

wilsgL uenlad i 9.
(©) otiadlu 212ulE wilasidlell dum sl 2 sy Beureudl iy w2l @ 8.

(D) ealsS URaAsesll v Yletetl iAW 2Reetl WA Rl 2dle1 B,
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005.

600 x 1000

. . 1Pl
theoretically what is the maximum number of iPhone can pq transported by one
n in the passage?

(B) 300,000 iPhoneg
(D) 350,000 iPhoneg

cargo jet, based on the data give
(A) 250,000 iPhones
(C) 285,714 iPhones
Ails A4, g5l 2udell wlRdla 28R s 58T 02 gri WBqed 59w de

SsldAl Hern vyl 324l 97

fA) 250,000 2U5Sis (B) 300,000 »11tfl+

(C) 285,714 255l (D) 350,000 2S5t

Passage (For Ques. 006 To 008)

South Africa won the World Test Championship. Ashwell Prince, the batting coach,
led a celebratory song about Black captain Temba Bavuma. Ashwell recalled the
history of cricket in South Africa. The South African team has a reservation, quota,
for the black players. When things went wrong, it was the quota players' fault, while
when things went right, the others were heroes. Makhaya Ntini, a legendary pacer,
felt unwelcome by his teammates, who wouldn't even sit with him during breakfast
or include him in their dinner plans. The team's success came from conquering
their inner demons and countering outsiders' perceptions. South Africa's great
achievement is their ability to set their house in order and then counter outsiders'
perceptions.

5530 (U< 006 21 008 w12)

elfgL 2l ae 222 ARWABN wdl. Ao iy Aadd Biedl ods ded 30
gl (42l Goraglld ol awy, RNadd efiol 2ulsmi Grodl SFert we sl €
Uleset i ods Veudloilell 2ivar/ glar wibid 9. o 58 Vg 2, MR siel
vl o awami 2ud), sl of i UG w, R 2ot vl €RL et
(vl U ottt 2AelellA cotell uieti-2eflol gz sl 2tad ade oAl
U 5 orol ARABHE Aefl WA Al o el vy ALOorededl oreil et A
#Rell 4 et Foell Al iR 043 i 1 ey ezl el sl el

eligt 2lisiell Heiet R 4§ % Aol wleill aqinfes e Yl 24 8 At
QUQUALAL UMl s
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006.  What is the primary theme of the passage?
(A) The historical evolution of cricket in South Africa
(B) The role of Temba Bavuma in South Africa's cricket success
(C) Overcoming internal divisions and external biases to achieve success

(D) The impact of the quota system on individual player performance

S5l 4 (v o 7
(A) el s Blodl AlciBis Qs
(B) elal »ulysill (2 ugnawmi 2301 ougiell @fist
y AFNAL G 52a1 WS MidRs [eitor vied ollaydACSld slopi sl U
(D) ulsad adldl simalldl w st2r usudldl 2121, -

007. What is an assumption underlying the passage's description of South Africa's
cricket team dynamics?
(A) The quota system is the primary reason for the team'’s success.
(B) Blaming quota players for failures reflects internal team prejudice.
(C) All non-quota players actively discriminated against Black players.

(D) Makhaya Ntini's exclusion was due to his performance as a player.
gl el 2ulsidl (32 el aldgladian agladl siarea aren 4 97

(A) 2t Bizen 2 el ugadid You srYL 8, X
B Frgadizil 12 sl2t adlzila e 2iudl 24 el 2tidRs ydaed Al

5 9.
ottt <Alet-5121 Vedloilzl 6ds Vadlel il wlu A4 deoua sdl. X

(©)
wotat D12l outsict vl 2 Aedl Wedl el seelda sral ed.

(D)
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Prince ;
008. What can be inferred about the role of Ashwell Prince i the context of the
passage? .
(A3 ‘Hewes responsible for implementing the quota SYstem in Skt Bt
cricket. -
(B) He played a leadership role in fostering team unity duﬁng the Chaznpéosmhjp
(C) He criticized the team for their treatment of Black players

like ‘.\lakhz}“a
Ntini.

(D) He was the head coach of the South African cricket reqp during the win,

gsuell el vladd Meudl ofst (A2 4 2duid 53] 51540

(A) A elia vulssian BIeui slol Rres Q0L RUHE v o o

(B) gl Ay e Zlatell sl RN dgeadd] wfiy anpq] x

(C) gl 3ot 2iedlell sval 212da viawdhotial add w3 Sud 2y 29 X -
D) A ARWUARN @ g3 eBagt 2ulsset 532 Anel oy 3 el

Passage (For Ques. 009 & 010)

A Boeing Dreamliner of Air India with 242 persons on board crashed in

Ahmedabad. Mr. Rajesh Patel, a S7-year-old former photographer and volunteer

at Ahmedabad Civil Hospital since the 2008 Ahmedabad senal blasts, was among
the first responders. Lacking stretchers, Patel and other volunteers used old sarees
and bedsheets to carry bodies and injured persons to ambulances.  After rescus
work, Patel salvaged luggage and bel;mgings’ recovering 70 tolas of gold jeweltery

and handed it to the police, Gujarat Minister of State for Home Harsh Sanghawt

noted that gold omaments Wweighing 4- around T 4§ lakh, revoverad

S tolas, worth

. «police tor thetr
from Veenaben's body, were returned to her family, who praised the pohe
honesty.

A e
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“'1? Bl oo, Seser, i 242 cuBranil AR sett, gL geloelaed

4. “15“?[ AR 24 20081 vyeiate RRUA vatRedl wnuell wugar Bifg

1, 235200 o :;: U 57 ey 5l 78l u%q,_ UM U[AAE DUYARIAHIAL Bl
aﬁmng‘;‘gi Rel, ol W3et a4 aey 2SI Yei2e) :m-l Bonuz Ubcviid
B 7’6(—1151[@"1 ol :!;e[l AL0A vt Al GualaL sil, oteuia sed usdl, 5l
v (-{——;—\___'“‘1} ER0| Q{élt.'l UL e @22l 2158 59, ot A Wiedlaad 2ifwaL
WA 24 Aoy 3of] o] o el ovgued % sl [ouoldel 4a2s waefl wday 4-5
UL A7ttt ety R, ol et cot0t 74.5 vt ecll, At WBARA Wrt 5290
UL, UG Yielyed] WAL A] w3,
What is the Primary theme of the passage?

| (A) The challenges faceq by first responders in disaster situations

(B) The heroism ang honesty of volunteers and police in the aftermath of a plane
crash

009.

(C) The role of Mr. Rajesh Patel in recovering valuables after the crash
(D) The impact of the Air India crash on Ahmedabad's emergency response system
FRAL YA [Anu g §7
(A) 2iuladl WRRACAN nay WR1E 2R 4ssE
\AB) [ geoan ussl 2anidagt 219 didluedl gl w1 UHIBLSAL
(C) gl ussl Yeuaid axdil Yeurd sami =l aspe W CIETTE
(D) R g geleeidl 2ieiaiedl 53152 ufaie woudl W 2k

010. What is an assumption underlying the use of sarees and bedsheets by volunteers
during the rescue?
(A) Stretchers were unavailable at the crash site.
(B) Sarees and bedsheets were more effective than stretchers for carrying injured

persons.
(C) Volunteers were trained to use household items for rescue operations.

(D) Ambulances were equipped to handle improvised stretchers. . |
oputa g2l 2addas] Gkl A 2 AL Guiatell 2R e 8 7
_(A) gt Y0 22U GUALY o el |
(B) |2l e AlER] 591A Ulscvild | oral HI2 AR Sl Ay PRRSRS el X,
(C) 2idasid 839 aqildl o std W2 Gudla sRaedl cielln 2l 2udl

edl.
(D) 2oyced vRUMl/ SIHAAG WA sl 5391 HI2 Uswor e,
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011.

Passage (For Ques. 011 & 012) |
Chief of Defence Staff General Anil Chauhan describeg Operation Sindoor as
India's "first non-contact warfarc" and "convergence Warfare " It involved a2 mix of

kinetic and non-kinctic actions across cyber, land, space, clectromagnetic spectrum,

and air, with dircct action only at the Linc of Contro| (LoC). He compared the

Indian Army's resilicnce to Test cricket, stating that losscs ghoyjq not be quantified
in numbers. Because in Test Cricket, the "innings defeat" i more important than
wickets or runs. On May 10, the Pakistani Army attacked with ballistic missiles, and
Indian forces responded with BrahMos missiles, destroying ay least 11 Pakistani air-
bases. General Chauhan noted that details about destroyed aircraf and radars would

be shared later.

$50L (U< 011 21 012 12)

allg ilg [$3r 2215 oreiret vl DGl 2R FIE2 A M2cte] “yeiy o3 Yogt”

U “sraoiert/ YA Yo ol Al dui AUoR, sfla, wagg, GRPEIDER]EY

RUseH 2 ¢ Gl alreila 2 Gre-alaelle Gl Bisg g éd, o7H Al

#lig 5314 (LoC) wR o Allell sefad] szl 2ul, AL il Siel] B fasyigesed]

et 222 32 il 54, ovgued 3 qsaiidd vapily ARG oS8l el s Y 332

Gbeui, “Sh eR” F3Al waal 2 s @8 Hecadl B, 10 Al dio, wilszaid]
Al clfalkes Paddl] gudl sul, w1 Rl Al gy Brausaidl syai

AL, ol 2ol il 11 bzl BRORIAL gl Bl sreiRe Aeisl svoue )

el wdall (Gl 219 28Rl [ weslefl syouaami »uast

What is an assumption underlying General Chauhan's description of Operation
Sindoor as "non-contact warfare"?

(A) Traditional warfare methods are no longer effective in modem conflicts.

(B) The use of multiple domains reduces the need for direct physical
eéngagement.

(C) Indian forces avoided all forms of kinetic action during the operation.

(D) Pakistani forces were unprepared for India's multi-domain response.

R AIGIAL Wil B A “Toret-2iuf ™ el gl RO 4RSU

97

(A) WPl Ysg Yesletoll 2088 denilug ¢q wizrsrs <l

(B) aiglaH faldl Gurdlor xlley oi\fus Al or3Rutd w2R .

(©) Mirelld Aetizl vilw3ae g2 quy usiRel atfaielle Gl 2l

(D) Wlszeiell Al G134 -8l ulae W qur « odl.

— [PTO.
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012. -What can be ian[‘[‘cd aboul Gcncral Chauhaﬂ's Test CriCkct analogy?
(A) Ttemphasizes the importance of focusing on individual losses in warfare.

(B) ltsuggests that professional forces should prioritize overall victory over minor

setbacks,

(©)

(D) Itindicates that India's response was limited to the BrahMos missile strike.
oA Aeriell 222 (2ol 2l apuct @l § gt 570 asiu?
(A) d Yl eufsedidt efsatiel w2 et Beset s241e eea z4fd B,
I}-- A YA B Y epaafay el wuiell 6 52l e Forud Wles A0
oA,
(€) deuld 83 »ilwRad Bigz 215 2wgucns assdl gl edl,
(D) dedld 8 % otradl uliaie aslud Masad gual 34l 3ulfza sdl.

Itimplics that Operation Sindoor was a defensive military strategy.

* Passage (For Ques. 013 To 015)
The University Grants Commission (UGC) allowed foreign universities to set
up campuses in India in 2023. Since then, Deakin Univers_ity and the University
of Wollongong (Australia) established campuses in Gujarat's GIFT City, and the
University of Southampton (U.K.) in Gurugram. Recently, five more institutions-
University of York (U.K.), University of Aberdeen, University of Western Australia,
Ilinois Institute of Technology, and Instituto Europeo di Design (Italy)-received
permission to set up in Mumbai.
Admissions were announced before key details like faculty information were
publicizcd, raising concerns despite signaling enthusiasm. Most institutions are not
top-tier in their home countries and face challenges in establishing a clear academic
identity in India's competitive market, where they risk being seen as degree factories.
Fofci gn campuses rely heavily on marketing, which cannot substitute for academic
substance. They operate from rented buildings, lacking the vibrancy of traditional

Indian universities.
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* 553 (u=el 013 %) 015 W12) |
y[RaRiZl a2 shad (UGC) 1 202341 (Agell ylaliZlagg MRt Yoy oy
URLEL iy Ueloifay

Cliogd edl. caell, Ll yfrafid 24 4 L (wiladfy) =)

aerRldel GIFT Rl M@ﬁ wily G (Y1) ) 5 Lo gy sy,
AlvaRdl, Ui ay Azl - yalidl wil U5 ()., 4B o), Ao,

ylaaRid] iy dzed ilzslau, Sladls Bleezye M&\&.ﬂa&m 1 Fremy
YRR Sl Rastes (Seredl) sizall 2l dopd] yof ; el Wl o7l
wuu [ordl oadz u A udai udadl oAl KU A, i) Gragg e i

Bzl Gofl as, Waieuotell deevll ddetl YO AL At 3e2efl qefl 24 ety
zutlcws ool 2uz Aallls alonvt 2 52U sl W 53 8, el dua

w@ zell 3w Wl whlo w Gl 8, & Amfws

flel [isey 26 9 4. Avil eusiedl SHRAMIE]L 514 2 8, i vz sdly
— ——

Y[qiaRiZlild] @dddidl 2161e 8.

013. What is an assumption underlying the passage’s concern about foreign universities
announcing admissions before sharing f#culty details? - |
(A) Faculty information is the only factor students consider for admissions.
(B) All foreign faculty lack the qualifications needed for Indian campuses.
(C) Indian students are uninterested in foreign university programs.
(D) Lack of transparency about fachlty details could undermine student trust.
[Geell yRaRiEl> grt 3sed] [atdl 92 sul By wdgell ondzid sl ss2Hiell
Biidl 2uared qrew g 87 |
(A) &s5e2l Hileddl 2 Renellq UAY M2 e Al gl Ad v ko 8. X,
(B) ottt [eall g5l WA ey ayy 2 or3] st M Yok
©) Srdld Bendfel FRel yRaBila sefsaiug 2 aaad 4
(D) ¥5¢] (il URERIAIA 21019 Reyeffesiley Fraueid Aol widl 9 9.
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014. Which of the following can be inferred from the passage?
(A) All foreign universities in India are located in rented buildings.
(B) Foreign branch campuses primarily offer programs in fields like business and

data analytics,

C) The ' i :
(®) ¢ University of Southampton is the only U.K. university with a campus in
India.
(D) Indian private universities have stopped collaborating with foreign institutions.
s5ARIA] ﬂ-‘ﬁdl‘-li-i 54 ViqHId 530 as?
(A SR ] (Gl yRaBA el SuRdMi Rad 9.
(B) Eeell arvn Jrua oucd Bosdy 21 321 sleufbsa svan Al selsHl sl
9. |
(©) YaRI 21y wGarad A euzdwi 3y triadl s Y. ylraRi2l 8.
(D) ™Rl vl YFaREI G2l 2l widl qedldl o sul 9.

015. How many of the following pairs of universities and their parent nations are correct?
‘1. Deakin University - Australia ‘ |
2. Univeréity of Southampton -United States
3.  University of York - United Kingdom
4. Instituto Europeo Design - Italy
(A) Only one of these (B) Only two of these
(C) Only three of these (D) None of these
31l YRAREAL 2 dHel YA uBledl ondlatinial Sl ARl 897
1 QB yRaRE - viiglan 7
2. yFARE iy WAL - YUdes 22U %
3. yfaRiE iy 95 - yuges B o
4 Secydl YAl (s - saidl
(A) ] g5t 2l (B) 2iMiell g5d &
(C) »udidl g5 A% (D) gl 5i8 <l
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016.

Passage (For Ques. 016 & 017)

The Supreme Court came down heavily on the "extra-judiciy) o on the Tamil film
Thug Life in Karnataka. The Supreme Court ruled  thy any film that has received
a CBFC certificate must be screened. In Karnataka, thig Mmovie's release is facing
problems afier it's actor Kamal Haasan's remark that Kann, . was born from Tamil.
The Supreme Court has rightly characterised such a "bapn ;¢ - infringement on the
filmmaker's constitutionally guaranteed right to freedom of speech and expression.
The Supreme Court also criticised the Karnata.ka High Court for asking Haasan
to apologise for his remark when hearing a petition fileq by the film's producers
on June 3. In 2018, the Supreme Court had to hear a simj|a, case regarding the
prohibition of the screening of the Hindi film 'Padmaavar i, Rajasthan and Gujarat.
Again, in 2023, the Supreme Court stepped in to ensure the release of "The Kerala
Story' in West Bengal, after the West Bengal government banned the film citing its
communal plot.

5530 (U2 016 i<l 017 H12)

il 518 swilesui dfia (e 62 Ay WRell “uedlvaks) der ufoin” uz
vt aaQl vudicd, Yulld 512 Ysiel 2l 3 CBFC uMemA ud 5244 5i5uel
[send uesdd ug oddul. suulesal, 21 (el Rl 2l0ddl sud s Mdes
sl Al Al sl UL, YHGL 6] 5 s7is L dAlanisl] o<l 8. 3pily 513
Al “Uldeia’d fen [Muldrdidl oiarelld u1fsrR 224 3 quoll 219 21l
adadlg 2up Gedad 2gue, ylla 512 sales wissiddl Ast wal 3 Y A6l 3 o
lrenet il grl evia 53¢l 2Rl Yol vuid i w3l AL 58],
201840, lH 512 Asrrale 244 ortaui (€] Gen ‘usuad’« uesld w2 uloia
Aol it Bauell Yetranll 59 ecll. 5ell, 2023ni, il 513 wBEM couami 4 d2a
w2l feudl Rellosdl YlafEia e w2 saady s, s WEH ciua 252 Al
AWES 204t/ dvodid 2isl en w2 uliein Wl edl.

What can be inferred about the Karnataka High Court's role in the Thug Life case?
(A) Itimposed an extra-judicial ban on the film.

(B) It dismissed the petition filed by the film's producers.

(C) It sought to mediate by asking Kamal Haasan to apologize.

(D) It supported the Supreme Court's ruling on the film's releasc.

£ iy S 50125 e1ssldd] oyfy [ag) g iefie 530 s’

(A) qul ey mwlﬁ&/ AR Uldtoiy e,

(B) el et [lasil gri giwe 2] wizes goudl €lell.

(©) Al 54t ¢t wigl sivtey 5dla) Herpzef] sacedl Wit 540

(D) Al 3l sldet Grenet Relloy vidiey gl uHedle 2,
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017. What is an assumption ﬁnderlying the Supreme Court's ruling that films with CBFC
certification must be screened?
(A) State governments Jack the authority to ban CBFC-certified films.
(B)  All CBFC-certified films are free of controversial content.

(®), PUP“C protests against films are always unjustified.

(D) Filmmakers will not challenge CBFC certifications in court. -
Pl el Y511 B} CpRe UHIQYA 4Rl [geatld ueddd ug ot dedll 2uareqd
QIRQU 4 97
(A) Rlowd 205K WA CBFC-uiftet (el we ufioitt satedl wARisi2 il
- (B) 8l CBFC-uilid ew) Raigizug ausallel Yool Slu 8.
(©) [l Aot o2 @AY dala IRaworoll Gy B,
(D) [seu [l CBFC wumorusiial 51540 ussiadl “dl.

018. The vessel is filled with a mixture of "X" liters of spirit and water in the ratio of 577,

24 liters of the mixture is taken out, and the vessel is refilled by adding 8 liters of

spirit followed by 16 liters of water. Find the value of "X" jf the ratio of spirit to

20
water in the resultant mixture is 2:3. S0 : F0
ko e
(A) 108 (B) 120 48\ 56
qa¢ T2

(C) 106 (D) 130
s el "X [@2r RuRe w14 wielld Bisg 5074 AR OR¢ B, 24 Ry23 EETH
GER SIZAML 21D B, i WaAd 8 (422 ByRe 16 (@2 iy
2194 6, o4 wReuHl B RUR2 21 wifleq) AR

(A) 108 &1 20

(C) 106 (D) 130

L G4 5 oraumi
R 2:3 Qly, d) "y 4 Yy A4,
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019.  Outof392 people, 211 visited Qutub Minar, 179 visited Chy, Minar, and 260 visited g
Taj Mahal. 52 people visited all three sites, 75 visited only Qutyb Minar and Taj g
Mahal, and 106 visited both Char Mlnar and Taj Maha] lfno one visited anz)’/ Ofthegfs‘” g
LR
r
sites, how ‘many people visited both CharMinar and Qutub Mipap i s &
‘ p | s -22 :
i 54
(A) 21 - (B) 152 | 2% AT i
©) 73 (D) 77 | @D an 4
: lie®
392 cllstuigll, 2112 yqot ez, 17921 AR PR w19 2602 Ao ad] HYaisia “
dldl. 52 4l Ay wmleﬂ yausid dlell, 759 g5 dot B wig ABHE el
et iell, w1 10690 42 Biel 2434 clisrudet oiaed] Yellsid «l4l. oa mgq
wlsugl 2ol Yetisid o el @, dl AR B 1 34 (et oiedl Yasia SHIEll
el afvan Yoell B2 3 &)
)(A) 21’ | (B) 152 !
C) 73 - (D) 77 L

020 In a certain code, the word "STUVWXYZ" is coded as "EREOCSCP" How is the

word "PQRSTUVW" coded in the same code?
(A) BHLTKAFI

(C) BHLTKAEI (D) BHLTKAF]J

Alssa slsui, “S_TU\(WXS{Z” Wl “EREOCSCP” oy 5ls sami 204 . d o
sl$il “PQRSTUVW”” 10z 4ef] 413 TR,
_(AY BHLTKAFI

(C) BHLTKAE]

(B) BHMTKAFI - |
(B) BHMTKAFI

(D) BHLTKAFJ

b
CSSC-GS-11-2025 - A | (15] [P.T.O.
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5’% w For Ques. 021 To 024

()= | |

;,% A Five students-Arjun, Chetan, Dinesh, Rohan, and Tarun-report;d ,ft.hilff sgor;as \1131 ;1
gc -3 EeniSIVe lek s follows V> o +otr =138

2 Arjun: mm an together scored 133 markso caET 71N

I
¥ ), and Rotay together scored 138 marks‘.H_ T +aA= YT
i
E @ and together scored 143 marks. 4R AL = {39
2 3 Rohan: - d.together scored 142 marks.
_3 Tarun: and togethcr scored 134 marks. Cao |
* u2q021 41024 w2 1)
: . vk
ui (el utofe, A, 9Aa, Aed v dRRI-3 Abell Hisdcus /ARl uz'laud@
: 230 (949, <
A8 Al Yovor syguey: cy 28 O a 2. %

HE Bmope:  iofd, Ade 19 gl 4991 133 . Ofﬁ 4+t =qF Lo

42 Ade: . Add, €lAg viq Al 54 2101 138 2l - &+ Tg:—?
46 elaa:  dlda, Aed 2 el g4 491 143 2. =y 97
50 As: e, AL Viel iogeel 54 201 142 8L,
LF aqel: dggal,"mgfq vie Adeddl §4 2491 134 2l

- 021.  What is the average of the scores of all five students?

(A) 130 ~(B) 220
(C) 230 (D) 240
yin Rl w3 26R dedl 7

(A) 130 (B) 220
f© 230 [ (D) 240

022. 'Who scored ﬂ}lé'least marks among the students?
(A) Chetan - B} At
(C) Dinesh (D) Tarun
dAHIM [QenellAL USL el 24lest 29t slet Bicw ?

T o i

(C) el (D) a3l

.-
 CSSCGST0s Al 116) )£ e
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023.  Who scored the hj ghest marks among the students?

(A) Arjun (B) Chetan
(C) Rohan (D) Tarun
U (el U] Aef] gy opat 1A e ? f
(A) wioj«t | (B) da ¥

O R ) (D) 8t %

| | L3
024. How many students scored more marks than Arjun? -
(A) 0 ®B) 1
C) 2 D) 3
seal [Reuefolia wisj«el] Q8 2QL Haey| ?
(A) 0 B) 1
©) 2 f o3 ]
w For Ques. 025 & 026 ;

Four young men-Anil, Chetan, Dhruv, and Eshan-each have one outdoor interest
and one hobby related to fine arts. Two are interested in hockey, two In cricket,
two are painters, one is a singer, and one is a danf::;.;h:‘ fi 311;’\:}1? iqtfoqngﬂog \ii
provided: | Srere) ﬂa , oYy M‘L
1. Eshan is neither a dancer nor plays hoekey. o Zhe T rmieie —
2. Chetan does npt paint. » o - AP ;urq%/ ] fQA?\S—\:
3. The dancer plays hockey. PRI —
4. Anil and Chetan do not play cricket.

* U2 025 e 026 112

AR YUel-2i(d, Adet, YA 21 Soie-gdgei] g1l 21123f 18 AeifE1t s 20628k
R 2l wifoRR Al 8. o sl gz 9, o Boui 2 A 8, A Rk
8, s s B, 21 s s B, 2l MRl 2y 2l 8:

1.

el o oll geusR 8 3 o @l €ls) W Y, 5:1/“«»

2. Aded RioAsi ef) «4ef), 511 [ -1
3. deusk €ldl A B,
L4 e A Add (2 way ]
CSSC-GS-11.2025-4] O 7]
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027..

i in painting?
Who among the following play cricket and are interested in painting

(A) Anil (B) Chetan

(C) Dhruy (D) Dhruv and Eshan

ARt U Dt (532 23 B el raas s 3 A &7

(A) wilqq (B) A
©) 44 \W wiel Sl :)

Who among the following is a singer?

(A) Anil (B) Chetan
(C) Dhruv (D) Eshan
“il=ietl U] Slgt ouus 7

(A) e \®

(C) 44 (D) Saue

- Tewo nu‘mbe.,rs are respectively 40% and 60% more than a third number, What percent

" is'the first number of the second number?

(A) 75% (B) 87.5%

(C) 125% (D) 62.5%

o ol v oAl vl 40% 2id 60% 4y B. uaw vy, ofleg Avl 324

251497
| N
A) 75% (B) 87.5%
” [ x| b
C) 125% (D) 62.5% W’TS <

&0 1éo

CSSC-GS-11-2025-A |
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028.

q
=

029.

030.

(o L 7 white b : ,
A bag contains 6 red balls, 4 blue balls, and 7 W alls. Why s the minimgm

to en
number of balls that should be chosen randomly Sure that the,, are at least two

balls of different colors among those chosen?
(A) 5 (B) 7
C€) 8. (D) 10

s Al 6 et il ollet, 4 <l Dl ol 2 T AzE Do oj)q Wie

oilanl 2SI 291 A vt viat 2l olld S d YEABRA 5, 2 3esuel] yai

el ol vy Sodll idl oS ?
(A) 5
(C) 8

B) 7
(D) 10

Find the number of numbers between 600 and 5000 that are divisible by both 18

and 24.
(A) 58 (B) 60
(C) 61 (D) 62

600 244 5000 a2 Yol Avurll B o7 18 2 24 oidell woll as 37

(4) 58 (B) 60
LR ® &

Find the missing alphabets in the followiﬁg series:

(cgédefgutjvwxjrj

(A) derxyz (B) desvyz
(C) cdtuvw (D) efstyz
12 24l Al suuer vieR) siel):
(c__def ut_ vwx_ )

(A) derxyz (B) desvyz
(C) cdtuw (D) efstyz

seall -

e
sy

@ .

/’-’g‘ ]

g%

X

CSSC-GS-11-2025 - A |

[19)




T T, T

Ty,
MOS8 o8, o 304 0 o ¢

Yool Tt Voo Yo Yoo Toca et Yol Toc

_M_,,__
JEO8 a0y
YL TG TP
o T T o o o o el

e
(MO8

f

e o)

T SRSy IEEEET

5 v-o)é’L N

* Q 031 t0 033 Circular Seating Arrangem@"’ ed =
Eight people -1, J K L. M. N 0, and P- are seated around a circular table at equal

O, . -
distances, not necessarily in order, Some face the center, while others face outside.

The following conditions apply: e

. Kisits second to the left of I.

' < )
1" faces outside,

Jand L are immediate neighbors of K. . e

P sits second to the right of J. K
M sits third to the left of P.

N sits on the immediate right of O.

K sits third to the left of N.

M
K and P face the same direction.

O 0 N O v A W N

L sits on the immediate right of M.
10. L and O face the same direction. L

, K.
* w031 94l 033 SlUUSIR Giss AL

215 ABABL -1, J, K, L, M, N, O 44l P- 215 S0UsR Soictefl U 1¥1ed i
A5l 8, o7 sl clol €l o orgdl w#ll. Jocus clisl Yot g Hut K @6 SRR i
oleRell g Youi 52 8. «lAedl el @y W 8: v
1. K, Il siofl ooy oflon 214 3 8. T <
2. ToeRddl dg Yu R 8.

3. Jud L, K «l dicst(as ugisllail 8. k
4. P, J <l oryll ctioy oflon 2414 61 .

5. M, Pl sioil otisgl oflon 22 ol 8,

6. N, O <l diesifas ol olisy2 A 8,
7

8

9

K, Nl siofl otiogd =Alon 214 ol 6,

K uid P 215 or [EUHl yu 52 8,

L, M l diesiféts srngll otioy) o2 .
10. L 24 O 2l or (s yui 2 69,

CSSC-GS-11-2025 - A | (20] [ Contil..
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031.  Which of the following is true regarding 1. as per the given scating arrangement:

(A)  Only one person sits between 1. and 1.
(B)  Only three persons sit between 1. and P
(C) 1 sits second to the left of P
(D) M sits on the immediate right of L.
Ateniol 94 (301 21ka s1ss ag2a1 w2 L (A3 20 597
(A) o e 1 333 guq w3 ulid 3L 9. X
r(B) Latel P 2230 g5t oAyt 4Bl o3 9. t'—f'J
(€) 1, Pl siell szl oflon 2iq A 9. ¥,
(D) M, Ll ciesifas sraall ooy ot 9. x

032.  How many people in the given arrangement face outside?
(A) Two (B) Three
(C) Four (D) Five
LAY AU Sedl dlsl oeRedl dRg Hu 2 87

=

(A) © (B) =Aw

(C) 4R ](D) iy I

033. What is M's position with respect to J ?

(A) Fourth to the right (B) Third to the left
(C) Second to the lefi (D) Fifth to the left
J oAl @lst M ol (el § 97 .

(A) ormyll ouspd 4ig @),wa‘l oty Alog

(C) sell otrogd ofleg (D) Stofl ouagal viuy

CSSC-GS-11-2025 - A | ' 121 [ P.T.O.
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Directions: In the following Question, You have to decide whether the data
provided in the Stgl;mcnls is/are sufficient to answer the question.,

15 men and 18 women together il complete a work in 10 days. How many days
will it take 9 men and 14 women together to complete the same work?

Statements: oy /
is

30 men can complete the same work in 13 days.

o

2.  The amount of work done by a man is three-fourths of the work done by a

woman in one day.

(A) Statement 1 alone is sufficient to answer the question.

(B) Statement 2 alone is sufficient to answer the question.

(C) Either statement 1 alone or statement 2 alone are sufficient to answer the
question.

(D) Both statements 1 and 2 together are sufficient to answer the question.

Falazai: e uaaui auR «dsdl said 9 % 54/5u1 [MAeedl uaadl oraiot viyal

HI2 Yl 8.

15 yRul i 18 2dlell e Hofld 25 5310 e yol 531 o 8. 9 Rl =i 14

2ilull 4 wolla A or st Yol srami ear lequ @l ?

(Ads-i:

1. 30 yMl d o s 13 [eazmi yel 53 o 8.

2. w5 Y3M Gl 4 s els [Eaumi 2s Al qrt adl sl A9-aquly oveq S
(A) &5 [MAgd 1 WAl orqlol AL HI2 R 8.

(B) &t [den 2 Usedddl ovaior phdgL W2 R 8,

(C) [dga | wiu (496 2 D56 WPl arelio LML W2 Y3 ©.

\/(4{) [Adent 1 @i 2 o Wil WPl ovallol DU Hi2 YR 8,

CSSC-GS-11-2025 - A | [22]
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| 035. Statements:

1. All magazines are books. 2. Some magazines are not novels. g’
3. Nonovels are comics. 4. All comics are journals. g
S. No magazines are comics. m
‘Conclusions: LF
1 I. Some journals are not novels. 1. Some journals are not comics. g
ITI.  No books are comics. IV. Some books are not novels. Q?‘
(A) Only I and 11 follow (B) Only Il and IV follow
(C) L 1II, and IV follow (D) Only Iand IV follow
[Adei:
. ot Wil ofs 8. 2. Bedls Wlkld dqasul «xfl.
3. 816 dqasul sibsu <. 4.  otl] sifisy orele 8.
5. sl Wiloild slfis «l. |
[Resul:
L Sedls orda viqasal «lles IL Joedls orelat siBsu 2l =
L. sie o5 siBsu «dl. o IV. Jedls ofs dqasul «4l. ~
(A) 85 I 24 TI1 21242 6 (B) 5l I1 24 IV 24422 &
M | (D) g5t I 21t IV 223 8 ;
036. There are five bus routes between A and B; and six bus routes between B and C. A
man can travel round-trip in a number of ways by bus from A to C via B. If he does
not want to use a bus route more than once, in how many ways can he make a round
Ak k LE i
trip? . » .0
(A) 870 (B) 720
(C) 600 : (D) None of these

A wid B 923 Uid ol 32 99 i B 21l C 2 19 o121 32 9. ls b A dl B ud
C gl o2 a1t UGs-Zlu 530 4% 8. 04 d 51 o1y 32l Vs Rell A4 At GUAlL 4
s2a1 Hivdl éld, dl d Sedl dd AGs-2lu 530 9y ?

(A) 870 (B) 720

(C) 600 (D) il 5i¢ el

CSSC-GS-11-2025 - A | 123 ] [ PT.O.




%gif 037.  In a dry fruits shop, almonds are available in packets 0
[

f 200 grams and 1 kg. If

the number of 200-gram packets is increased by 50%, the total weight of almonds

could be the mimber

available in the shop increases by 20%. Which of the following )
of 1 kg packets in the shop? 6o |
(A) 58 (B) 60 =

(€) 62 (D) 64

s $14 g2uell gsieti otgin 200 A i 1 B AL Weni Guasy 8. o4 200 AR
Weedl 2vul 50% afl, dl gaiemi Guatst olgtdsd 54 dore 20% 46 8. Al midl 59
Aval 1 (5 Wedl €15 a3 ?

(A) 58 | (B) 60

(C) 62 | (D) 64

038.  What will come in place of question mark (?) in the number series
6, 10.5, 23, 60, ? , 644 |
(A) 192 (B) 196
(C) 168 (D) None of these
Al v Aol uad Rg (?) e g 24l
6, 10.5, 23, 60, 7, 644 |
A 192 (B) 196
©) 168 (D) uniell 1 el

039. The sum of all the 3-digit numbers, each of which on division by 5 leaves

remainder 3, is .

(A) 92180 (B) 99090
(C) 84280 (D) 98901
ol 3-wisedl vaiiledl WAL, /Ui €35 5 AR SRl 3 ol W B, A S,
(A) 92180 (B) 99090 N
(C) 84280 (D) 98901
CSSC-GS-11-2025 -A | [24] [ Contd...




040.

041.

A five digit number divisible by 3 is to be formed using thé numbers 0, 1, 2, 3, 4

and 5 without repetitions. The total number of ways this cé_n be done is

(A) 216 (B) 600 |

(C) 240 | (D) None of these

0, 1,2, 3, 4 % 5 Avaarzilel GudloL 5809, yeriade Biet, 3 4 opoll asi Adl

W~ 2isedl vl otdiaaedl 8. w11 el ga Adiedl v 8,
(A) 216 (B) 600
(C) 240 (D) il 18«

A cube is coloured blue on all faces. Then it is cut into 216 smaller cubes of equal
size. Now consider the following statements base on this information
Statement 1: There are 56 cubes which have at least two sides blue colour

Statement 2: There are 96 cubes which have only one side blue colour

. Which of the above statement/s is/are correct?

(A) oniyl . (B) only 2 S
(C) Both1 2 (D) Neither 1 nor 2

w5 asiell ol ooy il «llait 2018l i 20d 8. Ul dd 216 AHIA sEL Alell et
amqml 2019 8. ¢4 2l HEdldl 208R Il [qdedl Laul al:

[?tqact 1: 56 @ Bl 8 o<l 2l 2l A otioyil zom’l g.

g 2: 96 ad 2Adl 8 ov<ll g5 s oty «flal 21l ©.

Guael [ae-lnidl sd/sa wE/au 9?7

(A) #5d 1  (B) &2

(C) 1 24 2 oid (D) 132 4 «dl

S e T ITPTOY

(RO 0K A0S JFOS JFOS JOS{ \F04 HFO4 L08R S

(ot ot of{ Tot | Mot Tyof Tvort Teot Thod | TR T
BT ¢ YEY + TRY + YRY ¢ YRY ¢« YEV + THY + YEY « Y&Y + ¥YEY + TEY 4



Directions : The following questions are accompanied by three statements (A) ,

(B), and (C). You have to determine which statements is/are sufficient to answer the

questions.,

How many students in Class like to play only one game?

A.  Outof 72 total students in the class, 22 like hockey and cricket, 23 like football
and cricket, 15 like football and hockey.

B.  All the students like at least one game and 10 students like all the three games.

C. 9 students like to play only hockey.

(A) Only A and B together are sufficient.

(B) A, B and C together are sufficient.

(C) A, Band C even together are not sufficient.

(D) Either A and B together or A and C together are sufficient.

(Eanlagai : dl2Ad usdl il a0 [dedl (A), (B) 244 (C) ANAML 2iicdl 8. ddiR

“Assl s2ale 9 % 5/ 51 (el Uneedl ovaiol 2A4AL WS Rl B.

Ul b2 [Eeuelil g5 25 o ud Ul Wit 12 87

A, i g 72 [Renlnidl, 22 ¢isl vid B2 waie 52 @ 23 geolld i (552
yaie 52 69, 15 g20lld 2id Sisl Wie R 8.

B. ottt [asuelfll 2ilsmi vl 215 Wd wie R 8 21 10 Rl 481 286l
yaie 52 9.
C. 9 [azudlal g5 €lsl A waie 3 6§,
(A) g5 A e B A8/ YR 8,
(B) A, B %4 C -8/ Yl 8.
(C) A, Boid C 4t/ &a vl R <Y,
© D) A BUd/6hun wial A 2 € WA/ Rl B,




043. Directions: Study the following information carefully and answer ‘the 8“‘“’“
questions. | ‘
S, T, U,V, W, X, Y and Z are sitting around a circular table but not facing the centre.
Y sits third to the right of X. Y and X both are not immediate neighbours of Z,
who sits second to the left of S. T sits third to the right of U, T is not an immediate

neighbour of Y. V is not an immediate neighbour of Z or U.

How many persons are there between T and W, starting from T in anti-clockwise
g >

direction?
(A) One
(C) Three |
R AAedl HRAA s102Yyds veUR 52U 2id 20Ul WAL ovalol AUl
S,T, U, V, W, X, Y 24 Z 95 olsR 3etciell 2ua1utzt ool § uid desi o2 Wt «tell
Ral. Y, X «l orgil ctisyl Hllov 224 old 8. Y 244 X ol Z < cicsifts udiall <42l
3oy S «l siofl ooyl oflon 214 oA 8. T, U <l ovigll ooyt oAlon 224 aA 6. T,
Y il ctiesifs udiell «#fl. V, Z 21891 U <Al destfas udlell deﬂ_. |

T &l alsuadl @3 Eami a0l T 214 W a2 3¢l culsail 97

(A) 25 (B) o©l

CSSC-GS-11-2025 -A | [27]
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044. Directions :
In the following Question, You have to decide whether the data provided in the
statement/s is/are sufficient to answer the question.
The Compound Interest on a certain sum is Rs 432 more than the Simple Interest on
the same sum and same rate at the end of 2 Years. Find the rate of Interest?
Statements:
I. The Compound Interest on the same sum at the same rate of interest at the end
of 2 years is 14832.
2 ) The Siinple Interest on the same sum and same rate at the end of five years 1s
t © Rs.36000. -
(A) Statement 1 alone is sufficient to answer the question.
(B) Statement 2 alone is sufficient to answer the question.
(C) Either statement | alone or statement 2 alone are sufficient to answer the

question.

(D) Both statements 1 and 2 together are sufficient to answer the question
Eaf@da: ldl usui dHR sl s 9 5 534/su [qdedl Ul sraiel »iuat

Y2 Yl 9.

a5 254 U, Asqls 2oy 2 AL id d oy A i d oy €2 UIEL sy Rl 432
3L dy, 8. cdovedl €2 dlal?

[Fté‘tz-{i:

1. dov 5% U d o cdioval €2 2 el 2id Asgfes oy 14832 3Ma .

2. d oy s uid d oy €25 el vid AE sy 36000 3 8.

(A) g5 [t 1 uaetell orallol 2l HE R 8.

(B) g5 [MAzd 2 Uretell ovallol 2UNAL HIE R ©.

('C) [z 1 w194l [Hded 2 215G Useedl ool 204 WS R 8.

(D). [ 1 244 2-6i WA Uretell oLt 2UNAL HIZ Rel B,
i

28]
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045. In an examination, a student scores 10 marks for every correct answer and loses g‘ggg 1
3 marks for every wrong answer. The student attempted all the 150 questions and ﬂﬁ i
scored in all 1214 marks. The number of questions he answered correctly was___ - EA"»E E 1
(A) 138 (B) 124 gg 1
€) 132 (D) None of These A
s wdlai, s Fenell €2 2 sveel W@ 10 AR HAd 8 24 €35 vil2| sralel HI2 N
3AR A 8. A [@euelat ot oy 150 Urelell Wt sl 21 54 1214 2491 HaeAL, gﬂ
ARl ARAL Yot UL WAief] 20001 _adl ,.3:3==-=t%ﬂ-:; a
(A) 138 (B) 124 e
(C) 132 {6) iYL 5180 €] ] Fo g = VB
26
046.  The number nearest to 43582 divisible by each of 25, 50 and 75 is: ' ?;— o ?gﬁo
(A) 43500 (B) 43650 :
(C) 43600 ‘ (D) 43550 =" o
43582 <l 495l vl o7 25, 50 el 75 GiRL G ws A 9 Lsf]j“g > 07
(C) 43600 x (D) 43550 X.

047. If I walk at 5 kmph, I miss a train by 7 minutes. If, however, I walk at 6 kmph, I
reach the station 5 minutes before the departure of the train. The distance (in km)

between my house and the station is

a6 (B) 8

©)y 12 (D) None of These

od & 5 Bl ule sasedl o6l g, dl ¢ 34 7 Mzl 48l nG 6. oAy, od § 6 Gall
uld scisedl 26U AlG, dl € Sl Uz Uedl § M2 uddi 22U sl 8. HRL &R

el 222 423 iR ([l4i) 9. - 2
(A) 6 (B) 8 |
(C) 12 (D) 2MiE] 18 <l

CSSC-GS-11-2025 - Al [29] [ PT.O.
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From a point on a circular track 10 km long P, Q and R started running in the same

048. .
direction at the same time with speed of 2.5 kmph, 3 kmph and 4 kmph respectlfely.
Then on the starting point all three will meet again after |
(A) 15 hours (B) 20 hours
(C) 30 hours (D) None of these .

10 Gall ation olousi 25 wel 215 Bigdl P, Q 2l R 3l 25 o [causti s o 1
w5 2.5 Gl ul seats, 3 Goll uf s 2 4 Gl ula sasedl s elsald a3 s,
ol WG [G1g R Al 531l Beal unu ugl wad?

(A) 15 saus (B) 20 s4ls

(C) 30 saus o) 2041 515 el

049. In a Certain code language, KEYBOARD is coded as EUFVKJRZ. Then how is
ANSWERS coded in that language? '

" (A) TUIDBWP (B) TMYBZYO
(C) TUJDBYO (D) None of These
55U 51¢ AL, KEYBOARD < EUFVKJIRZ dil} 16 i 244 6. dl 4 ov
ANIML ANSWERS < 34l <ld 5l$ sl 20q 897

(A) - TUIDBWP ‘ (B) TMYBZYO
(C) TUJDBYO (D) 2uHidl s1¢5 ]
050.  Consider the following Statements and Conclusions and give the answer
Statement 1. G>H>J>K<P<R=T
Statement 2. D<E<B<K>S>V
Conclusion 1. T>V
Conclusion 2. H>R
Conclusion 3. T>H
Which of the above conclusion/s is / are correct?
(A) Onlyl (B) Only1 &2
(C) Onlyland2or3 . (D) All1,2and3
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[Adgd 1: G>H>J>K<P<R=T
[(ded 2: D<E<B<K>S8>V
s 1: T>V v
[irsd 2: H>R %
(s 3: T>H
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